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	Name
	
	Homeroom
	

	Assessment Criteria
	Assessment

Very                                               Very              Not

High    High         Med     Low     Low               Shown
	Overall Grade

	Sophisticated analysis of the organisation’s current information system discusses its strengths and limitations. 

· What are the strong points of the present information system

· What are the weaknesses of the current information sytem

· Where does it support the organisational goals

· Where does it not support the organisational goals

Comprehensive analysis examines the strengths and limitations of the prototype 

· Describe the improvements the prototype will bring to the organisation

· Describe possible disadvantages or problems the prototype may cause the organisation

Comprehensive evaluation of the prototype is directly linked to all the proposed evaluation criteria.

· Explanation of how the solution improves the organisational goals

· Explanation of how the solution improves collaborative decision making

· Explanation of how the solution improves communication in the organisation

 Recommendations about the hardware and software required to enable collaborative problem-solving and knowledge sharing.

· Demonstrate analysis of existing hardware 

· Demonstrate knowledge of any required hardware updates

· Comprehensive description of hardware needed to implement solution

· What software is required to support new and updated hardware

· Logic of explanation of why hardware is needed

 Recommendations about the hardware and software required by individual team members to enable participation in the virtual team.

· What recommended hardware will assist the communication in the organisation

· What hardware and software supports the involvement of organisation members who are in remote locations

· Logic of reasoning for hardware and software requirements
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A   85 - 81
A   80 - 76 

B+  75 - 71
B    70 - 66
C+  65 - 61
C    60 - 56
D+  55 - 51
D    50 - 46
E+  45 - 41
E    40 - 36
UG  < 36
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